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From a point P on a level ground,
the angle of elevation of the top of
the tower is 30°. If the distance of

point P from the foot of the tower is
@n, then_5Q% of the height of
the tower (in m) is:

gqdd 9 W Rea fdg p 94 d9R

d RER &1 ST DI 30° 2| afe

R & ure 4 fdg P &1 g8 510
Hiex 2, d H9R @1 %4918 BT 50%
(frex #) 2

(a) 85 um/sﬁﬁ

8543
@) 558

(c) 15043




The cost price of an article is 75%
of the marked price. The gain
percentage after allowing a discount
of 15% on the market price is:

Uh 9] DI Hd Yod Afhd eI Bl
75% & | afq 15% @1 B & ol 2,

@ al o Iar g ufaera fea=r 87
ln ln
l/}ﬂ)/lfia/u (b) 14 %

(c) 12%% (d) 11%%



g [(12.55)% - (5.65)°]%x19.8 |
g N

T
U8 x% @) 175 | MHsf 175
#X!E xQ2p~ (c) 0.175 (d) 17.5

e ——

FARCENG

The value of
48.3 x[(4.95)* + 4.95 x 13.25] -
|




. In AABC, AB =7 cm, BC = 10 cm,
and AC = 8 cm. If AD is the angle
bisector of /BAC, where D is a point
on BC, then DC (incm) =?

AABC, AB = 7 94, BC = 10 941, 3R
AC = 8 9HI| Ifc AD, ZBAC &1 &I
fg¥eis 2, W@l D, BC WX (& fdg 2,
dl DC ¥vI&X 2:

(a) 14/3 (b) 17/3
\}:}46/3 (d) 11/3 @
| ~
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An amount of Rs.
taken as a credit.
repaid
instal

5,200 was
as to be
two equivalent
ts. If the rate of interest
0% per annum, compounded
annually, find the value of each
instalment.

25,200 U b HAYT bl H b WU
A forar war o) 39 < WxreR fHwal
4 ol Aa1| IS &Gl D X 10%
yfaad 8, ol aiffe wu 4 daifoa

g, d ud®d feva &1 yYou =@

BT | d/ @
(a) Rs. 14,950 Rs. 14,520

(c) Rs. 15,125 (d) Rs. 13,250




A metal sheet 27 cm long, 8 cm
e ———— .
broad and 1 cm thick is melted into

a cube. Tﬂ:dlfference between the

surj'gce areas of the two solids will

6X5— 27 ﬁ?—ﬁ odl, 8 9l =TIt SR 1 941
aidl e urg B e bl Audrey

Uh O 9911 ofrdl 8 | Si9l oidl @
;2(;2%81‘8'}2? U 9%l @ dId BT R BIT:

_ ;(g%) () 2682 {1286 om @
2

(c) 264 ¥n? \pm246 cm?




Thecaverdge of the first 25 numbers
iyv45 and that of the last 18
bers is 56. The 28tk number is
67. If the 26" and 27t numbers are
excluded, then what is the average
of the remaining numbers?

46 &3 ®T 39d 50.5 | Ugdl
25 GBI &I 39d 45 & 3ix 3ifaH
18 G&RI &I 3i9d 56 © | 28d)

T 67 Bl Adfe 26d) 3w 27d)
I3 bl gel fear wre, a9y

> -TH-E!ITQT &1 JAd ﬁi@n {4

(a) 50.4 (b) 51.5

€ 50 (d) 51



The sides PQ and PR of APQR are
produced to points S and T,

respectively. The bisectors of ZSQR

and ZTRQ meet at point U, If ZQUR
= 69°, then the measure of /P is:

APQR &I HoBl PQ 3R PR @l
S fdg S8 3R T dd e/l WIdl
2 | ZSQR 31X ZTRQ &I GHfgHTGIH U
R el 21 afs ZQUR = 69° & @l
/P & HIY §T 27

(a) 69° @ (b) 21°
isY4a2 (d) 31°



A rectangular block 8 cm by 12 cm
by 16 cm is cut up in to an exact

numbe cubes. Find the
east possible number of cubes.
Ud JAAIBGR [cd, fSraa] &:

a9f, 12 |§ff T 16 9H B, Bl
)E R} g-q1 o REa & § @ren
Wl 21 89 B YAdH G99 G&l

ST DI | AL
,z (a) 18 if2a (W peb-
BNK \&K (c) 21 y ()27

& oy~



2 men and Wen working 7
hours a day finish gpiece of work in

S days; 4 men and 4 women working
h‘ _"
— W 3 hours a day do the same work in_7

72~ 2, 'E;ys. Find the number of days in
UM — 3¢ 4
7N — A

(3f'S days (b) 4 days
(c) 6 days (d) 3 days ¥

&



(a) 27 : 31

(b) 41 : 31

A certain sum A is lent on simple
interest at 8% per annum for 6
years and another sum B is lent on
simple interest at 10% per annum
for 4 years. If A: B =95 : 4 then the
ratio of amounts the principals
become after their respective time

periods is: T}Cﬂ\dﬂwr
s f¥ga gl A &1 8% aiftf®

HTERYT AT @I X 9 6 981 & foru
SR fear wirar 2 3R gadl g=xIfn
B &l 10% dife HTHIRYT &GTol $Hl GX
4, 4 991 & forv SuR fear @« 2 |
Gfe A : B =5:4 2, d Jdau-dl gl
S99 wdfsa gwaEfs @ q9g 994

(d) 19 : 23 grat fayse &1 IuTa AT _B?



The curved surface area of a right
circular cylinder is 616 cm? and the
area of its base is_38.5 2, What is
the volume (in cm3) of the cylinder?

(Take © = 22/7)

Uh o4 gl do-l &I dsb Y
A% 616 dNAIHeY 2 3NN sUD
AR BT AP 38.5 AR 2 |
dd9 @1 3¥ad  (aFddfier #)

T A e~
T

(a) 1%/3 (b)

/f\%&/ (d) f:é _><



. An isosceles AMNP is inscribed in a

circle. If MN = MP = 16V/5 cm, and NP
= 32 cm, what is the radius (in cm)
of the circle?

Udh WAfgeIE AMNP U g § Scdlvl
2| Ife MN = MP = 165991, 3k NP
= 32 9, 9d @ e (@i 9)
fda-t 22

(a) 18 (b) 2045 1 %
K=als s s A
R @




/'_./__-\
P varies directly as (Q’-+ 3) and Q

varies directly as (R +3). In a
fw‘fg articular case P=20,Q0 =7 and R =
? " @What will be the /va.lue of P, when
7};‘»@% F X3 R = 97
L20ut3 L (RNt p @+ 9 @ sgma A awem
@ @ §|3ﬁ_\'Q=(R2+3)$31§aTﬂ1ﬂtﬂﬂﬁ'
__'1-2 geodr o] fodl Aoy Rafa o p =
Q. K3 20,Q=73ARR=52| P& 4+ &I

S~ 8T, o4 R=9 87
q =
Ws (b) 52

(c) 38 (d) 28



Exactly midway between the foot
of two towers P and Q, the angles of
elevation of their tops are 45° and
60°, respectively. The ratio of the
heights of P and Q is:

SR pPpak Q @ ueY @ e =
ﬁ S Il &1 SYT BT HHI:
5° 3IX 60° 2 | P 3X Q &I HaAsdl

EJTGFIEHTIE-

\);11/=J§ lle§:1®

(c)1:3 (d)3:1



A boat can cover a distance of 56
I‘F\“‘lhn downstream in 3.5 hours. The
ratio of the boat in still swater and
the speed of stream ij
much time (in hours)
take to cover a dista
downstream?

Udh A1d gRT & 3Adhd 56 &l &l
¥l 3.5 ¢ # a¥ &x "adl 7| Rer
W H A9 Bl drd IR GRT D1 ard

Bl JJUId 3 : 1 2| -1d Bl GRT D
Iqhd 41.6 f&H & ag & H°
fa-r waa (acl o) ?

(a) 2.1 (b) 1.8

(ler2.6 (d) 1.5

>~ X 2
S

0ol og N_ii

I



In an election between two
candidates, one got 65% of the total
valid votes. 10% of the votes were
invalid. If the total number of votes
was 8600, the number of valid votes
the other candidate got was:

<l SHficart & 419 ts 919 9,
&l Hl 49 Adl BT 65% U BT = |
10% #Ad 3dg oA | Ife #dl @1 G

&1 8600 ofl, dl gur IHIGaR &l
firet dg wal @ g feadr off?

\42509 }4 2609
J,o(2709 )6 2409




In a AABC, the bisector of ZA
f"{ meets BC at D. If AB = 9.6 cm, AC =

11.2 cm and BD = 4.8 cm, the

0\5 ,"2— perimeter (in cm) of AABC is:
AABC ¥, /A &1 9¥fg¥Toid BC ¥ D
TR fierar 2 | afe AB = 9.6 €I, AC =
11.2 941 3R BD = 4.8 ¥ 2, @l
%‘48 AABC &1 iRy (d# #) 2:

- JBr31.2. (b) 28.6
QO-E/X\’_D, (c) 30.4 (d) 32.8
/'? @



12 men Yand 2 omen together
@mﬂm—:‘:‘&s days. It

Lon= kbW

A Q0

@

takes 12Q _days for one man alone to
complete the same work. How many
days will be required for one woman
alone to complete the same work?

12 Yoy 33X 20 #Afzd? s s
& I 5 feaf # 1T B GHd 2
Jbd Ub Yoy &l IUI &1 Bl YT
1 H 120 faq oFrd 21 AIPA TD
Aqfzar &1 SHl & &l qQRT HA D

V?imﬁﬁﬂfaﬁmwmﬁﬁ?
) 2

00 days (b) 225 days
(c) 150 days (d) 175 days



Study the given bar graph and
answer the questions that follow.

The bar graph shows the production
and export of computers (in
thousands) by a company in 6 years.

Production and Exports of Computers
(in Thousands) by Company XYZ in six
years

feu U IR UTH BT JFIT B IR
SU® d1¢ 3T dlel U911 & SR G |
dR UYTH 6 a8 H Ud HUYl ZIRI
®YeX d Ided AR FEgia (@9t
®) &l qrdr 2 |

BT a9 ¥ HUN XYZ §RT SRR Bl
Sdres 3R fFrafa (8ot #) |
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The total export of computers in
2013, 2015 and 2018 is x% of the
total product of computers by the
company during the six years. The
value of x (correct to two decimal
places) is:

2013, 2015 3[R 2018 H HIYCX Bl
od frafd s auf @ <RE $uA
NI Y & &l SAUG Bl x% B |
x 1 94 (T SIHA Il ddb aa))

¢
(a) 37.65 d&ﬂas 67

(c) 36.57 (d) 39.76



(a) 25,500

ke 25,000

(b) 24,500
(d) 26,000

Joseph deposited a total of Rs.
52,500 in a bank in the,nemee—a.f}his
two daughters aged 15 years and 16
years in such a way that they would
get equal amounts when they
become 18 years old. If the bank
gives 10% compound interest
compounded annually, then what is
the amount (in Rs) that Joseph had

deposited in the mname of his
younger daughter?

S AU 15 99 3R 16 a8 &I <l
gl @ M Uh §h H e 52,500
YUY 3 dvE Ol bRl © fb 18 qH
@ (MY H S= gaHE AR e 9,
d® "I T 10% dshdlg e
g, dl W% A Ul BIdl gl
aE feah R (5. #) SHT @)

33

?

g, 8



fﬁﬁ If A =10° what is the value of:
—
f{% * 12sm3A+ Scos(SA - 5°)

95111 - 4cos(SA +10°)

/.ﬂﬁl/,
62 +5 6J2 -5
6"‘-——- ) 0-2.2) ﬁ (9 -242)

(9 - 242) 62 +5
>€ (62 +5) (9 +242)




A sells a motorbike to B at a loss of
18%. B sells it to C at a profit of
25%. However, C gets it refurbished
and sells it to D without charging

anything for the refurbishment, at a
362;37( ,GOX boX 10 profit of 80%. If D paid Rs. 36,531
e —

(a) 18900
(c) 18265 X

for the motorbike, what was A’s cost
price (in Rs.)? Cﬂl

g;z A, B &l 18% &I B W S
HlexArgfde d9dr 21 B 59 25% &

ol UX C &l d9dl 2 | 8ldlid, C 34

Jdlpa dH@ar 8 3[R 9
Td+fiovor & fag 8 # qram fag

fQ<i1, 80% @ < 94X D &I 49 <dl

21 afe p 3 #Hewsfea & fov

Sp— 36,531 YA &I HIdA fear g, df A
o 22625 & oY »a You (vud o) foda-r oa?




Munaf and Surya start simultane-
\\, ously at the same point on a
circular track and run along the
track in the same direction. The

point on the track at which they

meet for the 315t time is the same
as that at which they meet for the

431 time. The ratio of the speed of
the faster boy to that of the slower
. one is n : 1, where n is a natural

IQ m qu{ number. Which of the following is

08—3,'5‘ NOT a possible value of n? UN\q\Q W
U$ ol fdg 94 e & 9Hg WX URH

gld 2 3N 9y A us @ foum A



dlsd 2 | 9 R forg fdg v 9 31y

W'Y e drgtlior R et ¥, 98 o fig & R W
’)(-“-j—ymaaf%ii?o«i& 43d] IR fied 2| g dsd @)

fa 3R | ded @1 Ifa &1 IJqura

et

| g, W8l nU® WIHd A& 2|
TF=) —*l:idﬁdmh frafaRaa & @ &9 T o &1 SHfAG
Jd]) #F TE 2°

(a) 5~ =Y (b) 3-1= L

()41 = 3



A cistern can be filled separately

by two pipes A and B in 36 minutes

‘% g' XQ. C'é and 45 minutes, respectively. A tap
| 30 L’ C at the bottom can empty the full

‘4{ — istern in 30 minutes. If tap C is
30 __“i__ opened 7 minutes) after pipes A and

B are opened, the cistern becomes
full in:

3
Udh cdl &l < 9ISy A 3R B gRI
/&T—Jgﬂm ATT—3TeT a3 36 fi-ic 3 45
3 e 4 W1 &1 9&dr 2| 9 R UP
@ ad ¢ 2, o) @ S# B 30 PrFE A
Wlell &Y dhdl & | dfe Fd A 3R B

(a) 42 minutes Qb)/46 minutes P! @l @ 7 fiFe 91 99 € @ien

WAl &, A <@ fbaq a9 4 ¢ W
(c) 44 minutes (d) 48 minutes _ AP



A circle with centre O has radius
15 cm. D is a point on the circle
such that a 24 cm long chord AB is
bisected by OD at point C. Find the
length of CD (in cm).

&% O dld Udb 9d &1 f3war 15 9
21 D 9 R Udh fdg 39 UoR 2 &
Uh 24 41 &« Sflar AB, OD g§RI
fdg ¢ W wafgwifora gidl 21 CD &I
dqrg (G #) sma s

(a) 9 5] 6

(c) 4 (d) 10



